
8.

Which of the following is a measure of Centr^l Tendency ?

(A) t^rt Range^(B) d^c^cb Mode

(C) y<Hiu Icirjeid Standard deviation (D) ^d<fl  ^ cf^t^ ct^ None of these
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6.

Calculate the coefficient of Range from the following data 24, 30, 64, 50, 34, and 72

(A) 1 .5(B)^8(C) 0.2 5(D) 0.5

7.^^rarrcTtr ^rre^r cj5T ^^^r %- Formula of Arithmetic mean is-

3.

A person who collects data is known as -

(A)^T^fe Demonstrator(B)<JiuMlcb^ Enumerator

(C)odii^piiidi Lecturer(D)3Tfqr^^^ Operator

A.  cT^f-3-iciTilci 7 0-8 0 cf5T  ^TS2T fcfc^ ^TTcT  cf5^ |

Calculate the mid-point of class interval 70-80

(A) 7 0(B) 7 5(C) 8 0(D) 8 5

5.   ^^^

Data originally collected for an investigation are known as -

Primary(B) f^cft^ra^  Secondary
Tertiary(D) ^d<^i  ^ cjt^ ct^ None of these

Census is conducted everyyears in India.

(A)cfT Two(B)irfcr Five   (C)^^T Ten(D)T?cf5 One

2.   ^FTfe*L|cbl 3HTcb^1 (^<Hcbi) cfit   ^T^TgR: ar^ff ^^ <s|IGdl

Median divides the data into.equal classes
Two   (B)x?cf^ One    (C)^r^^ Four   (D)c^^cr Three
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The process of arranging information in classes according to their resemblance or

characteristics.
(A) ^-i<^>crid Collection(B)fcTcR^T Variation

(C) ci^ficb^L^i Classification   (D)fduTlc^>^J| Privatisation

Who gave the welfare oriented definition of Economics ?

(A) u^<H ^^FTST Adam Smith(B) Ueu^^ ^TTfcT Alfred marshall

(C)^IOU^TO c^cr^>^   J.M. Keynes   (D) ^^^ ^i f^^^r^ Irving Fisher

7.fl t1

(A) cj^id  Weight(B)^ctt^ Height
(C) t^i^H cft ^H^i^dii  No. of Students  (D) ^<^^ ^ ^4 ^T^ None of these

1 6.  ^db^\   3TefTRoFt  ^

1 5. ^^i<M ^ ^t c^r ^rr ^^r: ^pii^d %- Which of these variables are discrete-

A. ^H<H4J    ^ I?cf^  ^5t^ ^ 3TT3T

A small group of items taken from the population-

(A) vj1c^|u|<^i  Census      {   (B)f^T^T/yfci^f Sample

(C) ^iv^u State(D)^"^^iicicfl  Questionnaire

cf^r    —   cjf ^^" ^- The  — item of a series is -
UJUJ

v 1st Quartile   (B)f^cft^r ^^efe 2nd quartile

3rd quartile(D)rR^ef ^^e^^ 4th quartile

^ ()
N3~NN

2. 3^T^Tlcrai  *^^^ f^T^^TTcf5  (^.^q c^j cr>)   fof^^f^T  cj>^ cf5T

The formula for constructing the Consumer Price Index is-

(A)

9.^^fiR^dici^l  c^ fcRTT"  fcb^V db^c\ ^- Who is known as'Father of statistics'.

(A) u^><H ^^rer Adam Smith   (B) ^ffe^r^^ 3-iic>c7iciici Gottfried Achenwall

(C) n^n^^ ^TTfc^ Alfred Marshall (D) iff^T ^^^^^^^r Paul Samuelson

10.^t ^cRt  c^^  ^ffer  Liix^^-if^cr>  ^^TcTEr  cj^t  ycr>c cf>^ qicrl  f^ra" cf5t

A diagram that shows the relationship between two variables is called.

(A) ^TT^T Mean   i^      (B) fcr^^^r f^r^r Scatter diagram

(C) <Hldfcj->l  Map(D)^rf^iic^i Median

1 1 . Rr>^ifl ^JIM^ ^jrr^ ^ ^bci^l ^^RPY  l^tct ^-

How many quadrants are there in a graph Paper-

One    (B)cjt Two   (C)cf^" Three   (D)^crT^ Four



A graph of a cumulative distribution function is known as -

(A) cT1t>ui f^^r Ogive     :   (B) 311^yd f^^^" Histogram

(C) ciu^f^ Bar-diagram   (D)gT^-f^T5r Pie-diagram

3d-iicic7i

All of these

2 4.  cT^ 44IM^  ^ft   ^i^TfcTT %-

(A) 1 8.6(B) 1 7.5(C) 1 5.6(D) 1 4.5

2 3.  fcT^TTcf5 ^ yc^i^ % - The types of Index Number are-

(A) 3ga^lcjrii ^Jc^r fcT^ifci5 Consumer Price Index Number

(B)e^cf5 ^j^y fcT^TTcf5 Wholesale Price Index
Tc^ Index of Industrial Production

If Mode (Z) = 16 and Arithmetic mean \X = 20, Find the Median.

, eft

22.

(Z)=16

When both lower and upper limits are considered, such classes are called-

(A) 3imci^T1 Exclusive     (B) xMd-Uc^^ft Inclusive
(C) ^iri^fl Cumulative     (D) ^^\6\  ~^k cf5f^ cr^t None of these

eft
2 1 .

(D) 2 0(C) 18(B) 1 6(A) 10

5

20-30

3

1 0-20

2

0-1 0

No. of Students/  ^>i^Tl

Marks/3Tcj^

Find the arithmetic mean from the following data -

2 0.

According to which economist- "Dispersion is the measure of variation of the

items"?
(A)^TT^fc^ Marshall(B)<sii3cl Bowley
(C) cjWn   Keynes(D) ^i^^icr^H     Robbins

^raft   All of these

^ ~3j^\ %- Qualities of a good questionnaire are

Simplicity(B)g^fr cj5T 3^1 d g^aT Proper order of questions

ct ^f^^^Tcr ^^p^rr Limited number of question
(A)

1 8.



<1&

The process when the government sells off its share capital of public sector undertaking

(PSU) to the private sector-
(A)f^r%T Investment       •"••.,     (B)fcrf^r^^T Disinvestment

(C) ^ci^ci^T Reinvestment       (D) c^jivji  Interest

29. cHMci t^5?V fcT^^f^r ^ sttett ^- The problems facing human capital formation-

(A) <sid.cfl v^Tcr^sstt Rising population  (B)^t-^ct Brain-drain
(C)flTTT c?5T 1oT^^r ^cr^ Low academic level (D) ^ci<fj  ^- ^raft All of these

30. cbJiT ^ TTR^f^ciD^'^^cT % - Conventional source of energy is/are-

(A) ciifui^^xiicb ^fcT Commercial sources

(B)^f? cjiTuif^jjc^ c^oiT Non-Commercial sources

(a) 3^ (b) Both (a) and (b)
'• A-' •

^r^t None
3 1 .  ^Ht*c^^ ^RT oft  cf>^ oyTcH^ii cjt 3TT^T TR^   cT^TT^ ofTcft %-

A tax levied on individual's income by Government is known as -

(A)^cT^T cj>^ Direct Tax(B)3tyoUT c^^ Indirect Tax

(C) 3^6l^ cf>^ Gift Tax^(D) xH<Hjfd c^^^ Property Tax

3 2.  ^^i<^ ^ ^ ci^ici-^TT 3^f^JT  c^ IZcT  cbcU 3^ft3T ^ 3TcT^fcT 3TTCTT %-

Which of these industries comes under small and cottage Industry-

(A)ofll  Ucf  -̂cud 3^Tl<)|  Iron and steel Industry

(B)oie>ioi-^^i<^[^i Shipbuilding
(C)^fl^ici 3^Ti>i Cement Industry(D) ^ -̂d<^>x>tn Handloom

2 8.  di^rlTi

(C) IDBI(D) IBRD(A) IMF(B)UNO

SECTION-B
2 6.  ^oitil  ^r cHc^ci  Lb^LHc^ cf^t^r % ? Which of this is a cash crop ?

(A)encT Paddy(B)^f^ Wheat \
(C)cJ^lirh   Cotton    (D) ^^<*^  ^ cf5t^ c^\ None of these

2 7. fcT^cr ^cf5 cf^t ^^^FT 3Tg^t cfTar ^ ^jiMi oTRTT % I World Bank is also known as -

2 5.  arrecf^^r ^ii^piic^ ^^r^encT ci^^f ^-enf^rcT % ?

Where is Indian statistical Institute located ?

(A)f^ooft Delhi (B)^c^t^ Chennai (C)^j^r^ Mumbai (D)cIcick>icii Kolkata



When a labour does not get employment opportunity despite his willingness to work at
the existing wage rate -        ^^

(A) ^^^^iaii) Unemployment(B) ^frSci^ ^^1vdaii^l Willingly Unemployed
(C) 3To^t ^^loi^ii^l Underemployment  (D) cf5t^ ^T^ None

iThe proportion of people living below the poverty line is more in

(A)arRcT India  (B)tf^" China   (C)^f^ Russia (D)^jpc^rouo U.S.A

4 0.  cici^iocTi   cf^it % ? What is known as "Navratna' ?

(A) i^iof)  30sb<H Private Enterprises     (B) -^HichjiTdc^^ c5M5r><*i  Public Enterprises

(Q ^rt (a) 3^^;(b) Both (a) and (b) (D)^T^ ^ cf5f^ ot# None of these
41 . TJcfS  ^5ft  f -̂erfcT  ^^R^ ^jf^=ra5  cl-cTdHM cHvd^^l ^f "T? cbl<H c^5^t   cf^V

What are the two categ^ries into which infrastructure is divided-

(A)Tiiidii^dc^> TIcT^iloi^Idcb Social and Political

(B)^>Hl<Hi^^cb Ucidcbcflc^; Social and Technological
(C)x^vd^fdcb x?cr3Tifefcf5 Political and Economic
(D)xiiicnii^icD ^er3TTfefe Social and Economic

3 6.  CFC cf5T  LLyL^^ii % -  CFC stands for-

(A)^i^^l mt^j^Ic^i^^ Hydro fluorocarbons
(B)3To^r Mx?j^lcioicsfci Ultra fluorocarbons

(C)circl^ Lh?j^lcbi<4^i Chloro fluorocarbon

(D)l^cI L4T^cbi<^d Photo fluorocarbon

3 7.  si^^cfl   Lir|c|i^T^l ^f^jTcTT c\ 3Tcrfer %- The duration of 12th Five year plan was -

(A) 20 12-20 17 (B) 1 997-20 02 (C) 20 02-2 0 07 (D) 198 0-1 98 5

3 8.  c^r-^TRpr c^ ^rrer^r %- The source of agricultural credit are/is

(A) 3$^<il<^1 Landlord  :, >      (B) ciiicR-ufdicb ^cj5 Commercial Bank

(C) cui*flj| ^cfs Rural Bank    (D) ^d<fl  ^ ^afl"  All of these

39.

3 3.  oi^gSI-^^tt cf5r ^^T^rei ^ - Poverty line is related to -

T f^refcTcTT Relative poverty  (B)forcf^^f f^rsf^rcTr Absolute poverty

(a) 3?^^ (b) Both (a) and (b) (D)^T^ ^T  cj5f^ ct# None of these

34. c^ofcr-^TRpT  c^^   ^^? :^T^-eT1^TcT :TtcT %-

Non-institutional sources of agricultural credit-

(A)<^ldi^ NABARD(B) cdiicUHif^cb I^^ Commercial banks

(Q^^^f^^r ^^^^ Regional Bank   (D)<Hi^ioi Traders

3 5.   tf^



Mapufacturing sector is included in theSector of the economy.

(A) ^Te^fdHcb Primary(B) f^cf^^r  Secondary
(C) c^cfl^icb Tertiary(D)^T^ ^" c^r4 ^r^t None of these

49. ljcr>   ^.̂ |cr>   vjft  IcbxiHi   qT ^ dil^cl 1c|c|^|^h  cf5t  cHIMdl ^—

An index for measuring human development of any country is known as -

(A) PPT(B)SBI(C)RBI(D)HDI
5 0.  ufd odjichri   3TT^T Icb-^H   ^^T ^ 3TfIcI5 ^ ?

Per capita income is higher in which country ?

(A) arr^cr Indiav^    (B) Lpfcfc^-dici Pakistan
China(D) ^rr^cTF^^T Bangladesh

©

Self Help Group
(B) ^iii<HiE^icD xiiei^iai ^*p Social Help Group

(Q^^crt 3t^c|c1^>   ^H^^ Self Higher Group

(D) T>Hi^^ifoicb ^>-c||t>^2T ^>h<*^ Social Flealth Group

48.

(D) 3^i<*fl Entrepreneur

47. SHG% I?cf5  :  SHGisa:

(C) tH<huj" ^t^r^^^tt Entire Population

42.

The Chipko movement aimed at protecting forest in the-

(A)f^T^rc: Bihar   f ;':••       ^       (B)^^cT Kerala

(C) cboi^dcb Karnataka(D)1%^Tfc?RT Himalayas

43.fch^f!  %^T c^^   3tl^|ld Ucf  foRjfcT c^ 3fc^^   cJ5t  <^>&c\   % ?

The difference in Exports and Imports of any country is known as -

(A)chtptr: ^Mc^doi Balance of Trade    (B) oiimi^L  cft ^^f^cr^rr  Structure of Trade

(C) odimi^ cft f^:TT Direction of Trade (D)c2rnrr? cjt t^i^i Volume of Trade

44.cti^oh ^ Tcbci^l ^cjiI   ^^^   -dlv^ioiixi ^TcrejT^T % ?

For how many days NREGA provides employment ?

(A) 1 0 0(B) 7 0(C) 9 0(D) 8 0
4 5.  cicTlc^^riGi c|5t xif^ur^^- % | Deforestation leads to-

(A) crr^-y^^iui Air pollution(B) ^tcr-RilciETcTT ^t^^t Bio diversity loss
(C) 3|^T 3Hc|cifd Land degradation   (D) ^^cfl  ^ ^ra^t All of these

46. <HMcj   r^^ft ^ ^.Hl^rH^cicT ^- Human capital consists of-

(A)^jQncb 3^f^ 3^aft cTlcfl  Both workers and entrepreneur

(B)^^dHcb Workers
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